Partial Exam 1. B.  16th, November 2016.

Reply briefly and concisely all the questions. Once you have finished the exercise, rename the file as ex12XXXX.doc, where XXXX is the corresponding NIA of each student. Then, send it to adeeconometrics@gmail.com, including ex12XXXX (again substituting XXXX with the corresponding student NIA) in the subject.
We want to estimate the demand function of a product. To that end, the file ex12.wf1 includes information about 100 individuals of different Spanish cities for the following variables:
sales = sales of the product (in logs)
price  = price of the product (in logs)
inc = income of the individual (in logs)
price2  = price of the main local competitor (in logs)
price3 = price of a similar product (in logs)

A. Using the previous information, you should estimate a demand function using all the explanatory variables and answer the following questions (we assume that we use the standard 5% significance level):
1.  Test for the single significance of the price elasticity. (0.75 points)

	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


2.  Test for the single significance of the price3 elasticity. (0.75 points)

	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


3.  Test for the joint significance of the coefficients of all the explanatory variables.  (0.75 points)

	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


4.  Test whether the income elasticity is equal to 1. (0.75 points)


	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


5. Which is the value of the coefficient of determination? Interpret it (0.5 points)

B. According to the previous information, you should estimate the best possible model
6. Copy the model you have finally selected (2 points)

7. Interpret this model in economic terms.  (2 points)

8. Let us imagine that we have another estimated model with a SBIC value of 170.  Would this new estimated model be better than your estimated model? Why? (1 point)

C. Answer the following questions 

9. Argue about the veracity of this affirmation. “If an estimator is consistent, the higher the information, the closer the true value of the parameter, unless the model perturbation does not hold the classical assumptions”. (1 point)

10. Argue about the veracity of this affirmation: “Let us assume that we have the following model yt = a + ut.  Then, the OLS estimation of the parameter a always coincides with the sample average of the dependent variable”. (0.5 point)

